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REQUIREMENTS: Graph paper

A scientific calculator may be used.

* This question paper consists of 6 pages, a answer sheet (graph paper) and
a formula sheet of 2 pages.
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MARKS: 100

INSTRUCTIONS AND INFORMATION
1. Answer ALL the questions.

2. Read ALL the questions carefully.

this question paper.
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QUESTION 1

Choose the correct answer from those given in brackets. Write only the answer next to the
question number (1.1-1.10) in the ANSWER BOOK.

1.1

1.2

1.3

1.4

1.5

1.6
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Simplify the following:
25 - 2.7.
=[27:8;128;4";11]

How many terms does the following expression have?
Aa+b)—6a’ +4b
=[1; 2; 3; 4 5]

270 km/h equals ... m/s
[16; 6; 75; 216; 120; 972]

The ratio of x to y is represented by:
X

[, = . w . x=Vy]
)) k] £

The graph of y=—

. must be drawn, 119: mg quadrant (s):

[2&3;1&2;2&4;}&’3}

If tan C = 26 , then the yalue of
[0,488° ; 54°; 87.¢

19
a ]
(10x 1)
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[10]
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QUESTION 2
2.1 Simplify the following expressions by only using exponent and log laws.
Leave answers with positive exponents.
2.1.1 (as )1’+f e(aé)”" (4)
i !
2.12 (243)5 +8° +(27)5 @)
213 VDlog3™?
: @
2.2 Simplify the following without a calculator:
2 logee3 + log,16 — log 100 4)
23 Calculate the product of: (~ 4a) x (B3a)’ (3)
24 Divide a® —4a® +4a—1 by a-1 ‘ (6)
g
6a—[a+3(a+2)] (3)
(26]
QUESTION 3
3.1
(2)
2)
60a%b°¢ (5)
3.3 Solve for y
S2-gn0 ©)
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3.4 Simplify the following:
2a+2b+72c¢ “_5a+5b+50
da—4b  15a* —15ab (>)
a a a 17

QUESTION 4
4.1 The total resistance of resistors connected in parallel in a circuit is gwen by
X L1 o \ ;
PR U +
RT Rl R2

Make R, the subject of the formula

4.2 Determine the velocity of a point on the circum

diameter of 40 mm and rotates at 50 revolutions per m Give the answer in m/s.

HINT: V =2mrm

QUESTION 5
5.1 Complete the TAB

to draw the graph

- shaft:if the shaft has a

180° | 210° | 240° | 270° | 300° | 330° | 360°

37° 4

B C
6.1.1 What is the name of the above triangle? Give a reason for your answer.
6.1.2 Determine the value of y of the triangle in QUESTION 6.1.1.
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6.2 Simplify the following expression by making use of the special angles. Do not use a
calculator.

45in30° x cos 60° x tan 60°

tan 30°
&)
6.3 Determine the value of B if B =tan 6028’ (2)
[13]
QUESTION 7
7.1 Determine the length of the hypotem;\i e of a tight 1gle triangle, if the length of the
two adjacent sides of the triangle are 14’?‘; and 16 r\r\lﬁi'ﬁrespectively. 3)
7.2
3)
“HINT: The top is a semicircle. (6)
(12]

TOTAL: 160
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MATHEMATICS N1
FORMULA SHEET

Rectangle: Perimeter = 2(I + b)
Area =1xDb

Square: Perimeter = 4a
2
Area =da”

Triangle: Perimeter =a+b +¢
Area =Y2b X h

Feciangular prism:
Volume=[xbXxh

Right triangular prism:
Volume = ¥2b x h x|

Cube: Volume =’

Right pyramid:
Volume = %(base area X h)

Ellipse:

T . .
Area = 1 (major axis X

Cone: Vei m

Annulus: A = JZ'(RZ - ,.2)
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Reghoek: Omtrek = 21+ D)
Area =I[xb

Vierkant: Omtrek = 4a
Area = a

Driehoek: Omtrek =
Afea : %b

Reghoekiggpriu ma:

Volume =1 xb x J

ekige pnsma
e=lbxhxl

Reg ep mide:
olume = %(basis area X h)

Ellips:

Area = —}(hoofas X Newe as)

Sirkel: Omtrek = D of 27t
2

T 2
Area = of ™

2
Silinder: Volume = E%——x h of wr’h

2 2
Keél: Volume = Uiy ><E of mh

3 3

Annulus: A= 7L'(R2 - rz)
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The right-angled triangle: Die reghoekige driehoek:

B

C a

A 0 C

The theorem of Pythagoras:

o)

Die stelling van Pythagqgaé
2od b L -

2 2,12
c=a +b
Ratios of angle 0:

; a b
sinf =— cosd =—
c c
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